	Compound sentence? (>1 SV(O)?)
 If Yes, then put * in next row
	Structure
S-V?
S-V-O?
V?
V-O?
Other?
	Length of introductory clause 
(0 if there is none)
	# words in sentence or clause before S appears
	S-V distance: # words between S and V
	Main S root:
“process”, “we”, “it”, “this”, “that”, …
	Length of noun phrase containing main S word. =1 for single-word noun.
	Main V root: “finish”, “know”, “is”, “are”, “has”, “have”, …
	Length of verb phrase containing main verb, including adverbs
	If the SV(O) has an O, the length of the noun phrase containing O; otherwise *
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